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 14. The group of matter particles known as fermions consists of

A baryons only

B quarks only

C leptons only

D quarks and leptons only

E baryons and mesons only.

 15. A certain type of composite particle is made of two up quarks and a strange quark.

The charge on an up quark is 
2
3
H+ .

The charge on a strange quark is 
1
3
H− .

Which of the following statements describes the nature and charge of this composite 

particle?

A The particle is a meson with a charge of 1H+ .

B The particle is a meson with a charge of 1H− .

C The particle is a meson with no charge.

D The particle is a baryon with a charge of 1H− .

E The particle is a baryon with a charge of 1H+ .

 16. Two changes in a radioactive decay series are shown below.

231 P R
90 Q STh  Pa  Ac

ȕ Į
→ →

A Thorium nucleus emits a beta particle and the product, a Protactinium nucleus, emits an 

alpha particle.

Which row in the table shows the numbers represented by P, Q, R, and S?

P Q R S

A 231 89 227 87

B 231 91 227 89

C 227 88 227 87

D 231 91 231 89

E 227 88 223 86


